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5 X 4 B | FTimho0RERE NDKRES X 4 TIwHALDKE| FH& NDKES K 4 B | Limhools NDKES K 4 Ltimpontts | & NDKES
(m) (m) (kN/ ) EE R (m) (m) (kN/ i) (m) (m) (kN/ ) (m) (m) (kN/ )
’ 100kN/mM%BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZiBZ % -~ = = =
Fhst 1.00/0.00 ~ 4.70 58.62| #hLlst |0.00 ~ 0.00|] 1.58 8.44 ZFhLst 1.00] 5.00 ~ 5.21 58.62| #hL4 | 500 ~ 521| 158 8.44
5 100kN/m%# 2 % 1.00[{0.00 ~ 1.37 120.84|3mZE#BZ 5| - ~ - - —| 100kN/MZ#% % 1.00| 12.68 ~ 21.98 120.84| 3m%E#BZ % -~ = = =
Fhst 1.00[1.37 ~ 9.16 100.00f Zxlust [ 000 ~ 9.16 2.39 12.80 st 1.00] 5.00 ~ 12.68 100.00f Zhlust | 500 ~ 21.98| 2.39 12.80
5 100kN/m%# 2 % 1.00[{0.00 ~ 257 140.40|3mZE#BZ S| - ~ - - —| 100kN/MZ#% % 1.00| 10.55 ~ 22.56 140.40| 3m%E#BZ % -~ = = =
Fhst 1.00| 2.57 ~ 10.36 100.00( Zh st [0.00 ~ 10.36| 2.67 14.28 st 1.00] 5.00 ~ 10.55 100.00f Zhkist | 500 ~ 2256 2.67 14.28
A 100kN/ Mm% 2 % 1.00[0.00 ~ 1.77 12714|3mZEBZD| - ~ - - —| 100kN/MZ#B% % 1.00| 12.24 ~ 25.35 127.14| 3m%E#BZ % -~ = = =
Fhst 1.00[1.77 ~ 955 100.00f Zxlust [ 000 ~ 955 2.72 14.56 st 1.00] 5.00 ~ 12.24 100.00f Zhlust | 500 ~ 25.35| 272 14.56
- 100kN/ Mm% 2 % 1.00[0.00 ~ 1.73 126.56|3mZE#BZ 5| - ~ - - —| 100kN/MZ#% % 1.00| 10.57 ~ 16.53 126.56| 3mZE#BZ % -~ = = =
Fhst 1.00[1.73 ~ 952 100.00f Zxlust [ 000 ~ 952 242 12.97 ZFhLst 1.00] 5.00 ~ 10.57 100.00f Zhlust | 500 ~ 16.53| 2.42 12.97
. 100kN/m%# 2 % 1.00/0.00 ~ 159 124.34|3mZEBZ D[ - ~ - - —| 100kN/MZ#% % 1.00| 10.61 ~ 15.91 124.34| 3m%E#BZ 5 -~ = = =
ZFhst 1.00/1.59 ~ 9.38 100.00f Zxlust 000 ~ 938 244 13.08 FhLst 1.00] 5.00 ~ 10.61 100.00f Zhlust | 500 ~ 1591 244 13.08
; 100kN/ Mm% 2 % 1.00/0.00 ~ 1.56 123.80|3mZE#BZ S| - ~ - - —| 100kN/MZ#% % 1.00| 10.53 ~ 15.81 123.80[ 3m%E#BZ -~ = = =
Fhst 1.00/1.56 ~ 9.34 100.00f Zxlust [ 000 ~ 9.34| 2.38 12.72 st 1.00] 5.00 ~ 10.53 100.00f Zhkust | 500 ~ 15.81| 2.38 12.72
5 100kN/m%# 2 % 1.00/0.00 ~ 0.65 109.70|3m%E#BZ 5| - ~ - - —| 100kN/MZ#% % 1.00| 11.41 ~ 13.81 109.70| 3m%E#BZ % -~ = = =
Zhst 1.00/0.65 ~ 8.44 100.00f x5t [0.00 ~ 844 2.01 10.74 ZFhLst 1.00] 5.00 ~ 11.41 100.00f Zhkust | 500 ~ 13.81| 2.01 10.74
9 100kN/ Mm% 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZiBZ % -~ = = =
Fhst 1.00/0.00 ~ 3.30 41.98] ZnLlst 000 ~ 3.30[ 2.38 12.75 st 1.00] 5.00 ~ 6.00 41.98] Znkls | 500 ~ 6.00[ 2.38 12.75
10 100kN/ Mm% 5 -l -~ = -|3mZEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZiBZ % -~ = = =
Fhst 1.00/0.00 ~ 347 4393 ZnLlst 000 ~ 347 2.21 11.84 st 1.00] 5.00 ~ 5.00 43.93] Znkls | 500 ~ 500[ 2.21 11.84
100kN/ Mm% 5 ~ 3ImEEAD ~ 100kN/m%#B% % ~ IMERBZD ~
ZFhst ~ st ~ FhLst ~ ZFhLst ~
100kN/ Mm% 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
Fhst ~ st ~ st ~ ZFhLst ~
100kN/mM%E{BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
Zhst ~ st ~ ZFhLst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
Fhst ~ st ~ st ~ ZFhLst ~
100kN/ Mm% 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ ImEBZD ~
Fhst ~ st ~ st ~ ZFhLst ~
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